8 7

Self-Replicating
Milling Machine
Julian Leland, 2012

Swarthmore College
E90 Senior Design Project

0O,

L@‘m

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 5/3/12
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:
ANGULAR: MACH* BEND * [\~ oo
TWO PLACE DECIMAL  + : ; ;
THREE PLAGE DECIMAL + — FullAssembly - Final Design
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL SIZE |DWG. NO. REV
FINISH B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 1.5 |WEIGHT: SHEET 1 OF 4
I
4 3 2 1



J

() ()

N

,i(@'

7,

()

_,.:Llain,

>

7

Y27 7=

— |
oln

I
5 . i
!|-|l—‘—‘—!|:ul1
° o [ I
‘?ﬁ:ﬁ%’.l
Np. |

SWanl

of

Q01—

001

m

é;®®@®®@®

5

HO

@c‘m

T 1]
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 5/3/12
TOLERANCES: .
FRACTIONAL * CHECKED TITLE:
ANGULAR: MACH* BEND * [\~ oo
TWO PLACE DECIMAL  + : ; ;
THREE PLAGE DECIMAL + p— FullAssembly - Final Design
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL SIZE |DWG. NO. REV
FINISH B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 1.5 |WEIGHT: SHEET 2 OF 4
I
4 3 2 1




7 6 5 4 3 2 1
Vﬁ SN
o)
o /( _orrrm

o o o o o @ 7
Y © ©
o o o o o
o M- o o [ (\ ]
q '/. ] ] h
. N O /./ \
14 '.ﬁ ° :
o o [9) 35 o\
I_I @] ||
® - ) o
= C\ % & E il E
: —
(o) / O (o) N
6 § )
——
@ I R°
g ;
NBami
P
© :>// ° o\ S\ °
T = T — \\ _ AN /
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 5/3/12
TOLERANCES: TITLE:
FRACTIONAL + CHECKED .
ANGULAR: MACH* BEND + [\~ oo
TWO PLACE DECIMAL  * . .
THREE PLACE DECIMAL * p— FullAssembly - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL SIZE [DWG. NO. REV
@ ® © NEXT ASSY USED ON FINISH B
m APPLICATION DO NOT SCALE DRAWING SCALE: 1.5 |WEIGHT: SHEET 3 OF 4
I
7 6 5 4 3 2 1




8 7 6 5 4 3 2
| | i | |
ITEM NO. PART NUMBER DESCRIPTION | QTY. ITEM NO. PART NUMBER DESCRIPTION | QTY.
1 BaseMember - Final Design 3 :
5 BasePlate - Final Design 3 36 RailSupportMountBolt - BaseSupport 4
3 98026A033 128 37 92620A655 2/
92620A71 46 38 98026A031 2/
g gzjlg’aétzgo Final Design ?421 39  |RailSupportMountBolt - BaseSupportV2 4
/ SideMember - Final Design 6 40 |RailClampMountPlate 4
8 ToplnsidePlate - Final Design 1 i% 8%%%ﬁgé§ 186
’9 TopOutsidePlate - Final Design ’3 7k 98056 A020 35
10 9125/A727 12 44 94895A805 16
11 |prox2pl2ssleeve 18 RailSupportMountBolt -
%% 81%%7'9[;28 EralDes ? 45 |RailMountSupport 4
enhaibupport - Final Lesign 46 LeadscrewThrustBearingMount 1
14 RightRailSupport - Final Design 1 47 94669A084 >
15 RailFrameAttachmentAngle - Final 4 48 18InAcmeleadscrew 2
Design 49 ThrustBearingPushPlate 2
16 RailFrameAttachmentPlate - Final 4 50 6680K11 4
Design 51 lex2mmSpacer 2
. . : . LeadscrewThrustBearingMount -
17  |ShortBearingRailClampV2 - FinalDesign 4 52 IBottomStage 9 1
18 [ShortPushPlate - FinalDesign 10 53  |BottomStageMountAnglel 1
19 12 in - EGR15U 1 54 BottomStageMountAngle2 1
20 220mm - EGR15U 2 95 BottomStageMountAngle3 1
i _Fi i RailSupportMountBolt -
23 :r?o(lz Seal EG15HIE 12 57 ToplnsideAngleZMount - Final Design 1
%5 ;'(ﬁﬁ:—éi‘gﬁ?&oz Hl 264 58  |Spindle Motor Mount 1
26 HGI5 PlugScrewHIHI 6 gg goplrcﬁldeZMounth 1
: - : pindle Base 1
27 SingleHolePushPlate - FinalDesign 2 61 Spindle Gib Mount 1
28 TopStageNutMount 2 62 SpindleColumn 1
%8 '96‘703 ?7%75x10Nut 2 63 Copy of Copy of TopMember - Final 1
31 90128A840 _ _ 2 Design”FullAssembly - Final Design
32 TopTable - FinalDesign 1
33 |TopshortBearingRailClampV2 - 2 64 |Copy of TopMembersideB - Final 1
FinalDesign Design”™FullAssembly - Final Design
34 12 in TEST- EGR15U 1
35 TopShortBearingRailClampV2 - Left - 2 65 TopMemberSideC - Final Design 1
FinalDesign
66 Copy of Copy of ToplinsidePlate - Final 1
Design”FullAssembly - Final Design

UNLESS OTHERWISE SPECIFIED:

NAME

DATE

DIMENSIONS ARE IN INCHES

DRAWN

LELAND

5/3/12

TOLERANCES:
FRACTIONAL £

CHECKED

ANGULAR: MACH*  BEND *
TWO PLACE DECIMAL  +

ENG APPR.

THREE PLACE DECIMAL *

MFG APPR.

INTERPRET GEOMETRIC

QA.

TOLERANCING PER:
MATERIAL

@

5

OO,

AT

FINISH

NEXT ASSY USED ON

APPLICATION DO NOT SCALE DRAWING

COMMENTS:

Part descriptions are either
descriptions listed in part files, or are
McMaster-Carr part numbers. Only

some fasteners are included.

TITLE:

FullAssembly - Final Design

SIZE

B

DWG. NO.

REV

SHEET 4 OF 4

4 3

SCALE: 15 |WEIGHT:
|

1




[12.500]
0.492

© © O

[304.801 |
12.000 _

UNLESS OTHERWISE SPECIFIED: NAME | DaTE
DIMENSIONS ARE IN INCHES DRAWN LELAND 5/3/12
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:
ANGULAR: MACH+ BEND *
" - ENG APPR.
TWO PLACE DECIMAL  * H
THREE PLACE DECIMAL * MEG APPR. 12 in - EGR15U
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER:
o CING COMMENTS:
MATERIAL Cut rail to roughly 12". Note that sides SIZE IDWG. NO. REV
of rail are hardened - difficult to cut.
FINISH Make 2x B
NEXT ASSY USED ON
SHEET 1 OF 1

m APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT:
4 3 2 ! 1




5 4 3 2 1
)
UNLESS OTHERWISE SPECIFIED: NAME | DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 5/3/12
TOLERANCES: TITLE:
FRACTIONAL CHECKED .
ANGULAR: MACH+ BEND *
- - ENG APPR.
TWO PLACE DECIMAL  *
THREE PLACE DECIMAL * MEG APPR. 220m m - EG R15U
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Pre-cut size - 220mm long. No SIZE IDWG. NO. REV
machining required.
FINISH B
@ ® @ NEXT ASSY USED ON
P A APPLICATION DO NOT SCALE DRAWING SCALE: 1.1 |WEIGHT: SHEET 1 OF 1
I
5 4 3 2 1




|
_ (9.375) _ _ (9.375) _
o™ o M ™ o o (0] (0]
NN~ N To) Tel < %
© (@)} - <t (9] (q\ (q\ N~
o) M M W D < < D To} ™ D
— o — | — _ _ _
:___________________________________________L Y _{_________E___________:::::::::::::::::::::::_'___________';/__\}::Z:Z:Z:Z:_JIT_\TI___________'________________________________________________JIT_TI_ ___________________ JI7 __\‘I::::::'::::::::::::::::::::::::::::-::::::::::-:::::::::::::::::::::::::[X‘< 2500
- - - - - -B - - / €5 - ) - - & - - - - - - -1.750
_ _ (MIN  TN _ _ _ _ _ _ _ _ _ _ _ _ /] /] _ _ 250
\qz/ \qz/ f :
| 4 C- - 7[/ - 7[; - - ‘O - /‘ G - G - - O‘ - ‘/z/ ‘/z/ - - A_ .750
""""""" I I O I/ | Y S 4 I I e A T'F‘I'T""T'F‘I'T""""""}0
(0.250) l _ l _[0.250) /
0.500 THRU ALL f 8x @ 0.375 THRU (0.500 THRU ALL
?0.500 THRU ALL S— m— B Ar—-d
NOTE ORIENTATION OF WELD ] ®0'500 THRU ALL
BEAD RELATIVE TO HOLES L ||
i B Al—<
_ (10.520) _ - _ (10.520) _
ol ol o o N~ I~ N~ I~
N N S 3 LB |[H3
D o\ ™ fap) 3\l N fn} M m N N D
= = — — D ﬁ< Ik#
1 ___ I | O O L_i\\; ______________________ i ____ 1 - I 1 ____ 1 __T_____ 1L ___f ______________ 0
____________ e <~ . e s e s — T ]
_____ e iy pp——— )_______:_________:_________:_________:_\___'«\____—_______-C}_________:_________:_________ ______:___-CI___:_________:_________:_________:______ { &\) — —&\) ———-——1"1.250
""""""""""" 2 I I N I S N 7 I I | /1 2 500
¢ 0.500 THRU 0.250
?0.500 THRU 2 x ® 0.375 THRU ALL = <L )
% 0.500 THRU 2 x (¢ 0.375 THRU ALL ?0.500 THRU _ | |_(0.250)
. 30.00 _
UNLESS OTHERWISE SPECIFIED: NAME DATE
MAKE 1 COPY OF PART WITH SET OF 8 .375" DwENsoNs ArE N CrEs [ oRAWN Leland | 3/12/12
HOLES, BUT NO .375" HOLES ON TOP OF PART. FRACTIONAL £ CHECKED TITLE:
MAKE 2 COPIES WITH .375 HOLES ON TOP OF ANGULAR MACH:  BEND * [ ey appr BaseMember - Final Des
PART, BUT WITHOUT 8 X .375 HOLE PATTERN. THREE PLACE DECMAL | \rG APPR. aseiviember - Final besign
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Z:«la(i g:e?ccording to instructions SIZE |\ DWG. NO. REV
|®M| APPLICATION DO NOT SCALE DRAWING SCALE: 1.2 |WEIGHT: SHEET 1 OF 1
|

8 7 6 5 4 3 2 1



ANGLES MAY BE APPROXIMATELY CUT.
REFERENCE FIRST HOLE POSITION
PRECISELY FROM DATUM A AND
APPROXIMATELY FROM BOTTOM CORNER.

5.77 .

\
(4.00) X -
o
o, S ALL HOLES ® 0.500 THRU
2701 | < (D) &)
B—<«
0 v
"y o o ~ O~ &
& rg) M ® i
N ™ 4 X @
D o Lo Lo N
B 10.39 —
S A
L0
N~
o0
1
o
A [ TT1 [ [ [ TT 1
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 3/12/12
TOLERANCES: TITLE:
FRACTIONAL * CHECKED .
ANGULAR: MACH* BEND + [\~ oo
TWO PLACE DECIMAL  * : .
THREE PLAGE DECIMAL p— BasePlate - Final Design
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 3x SIZE |DWG. NO. REV
FINISH B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 |WEIGHT: SHEET 1 OF 1
4 3 2 ! 1




8 5 : 4 3 2 1
4 x @ 0.130 THRU
M4x0.7 - 6H THRU
— B
™~ Ty) < To) o\ < o\
<t 00 AN © 00 © o\ ©
L0 N o ~ N N (Yo} N
~ 5 < < o /o N o o
= — —= A= — )
| : | . 7 0
| Q |;| 5 b— Al 0.217
[T | |
@, @, /»V— 1.831
| @ @ | U +0.005
| é‘ 2.047 0.000
e O— |2 524
D | ; @ i
//g@“ d} i 3.024
; 9 @ < [ 0000
| | 3.500 -0.005
4x ¢ 0.159 THRU & ; ; [
10-32 UNF THRU | | '
= | |
4 4§ e e s
. ' H (5.547 )
4x  0.130 THRU 4x © 0.130 THRU
M4x0.7 - 6H THRU M4x0.7 - 6H THRU
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/17/12
S, T
?ﬁ%};&éﬁ%ﬁcﬁfi?[) i i;iizz BearingBlockMountPlate - FinalDesign
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE |DWG. NO. REV
@m APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 3
I

5

4

3 2

1




+0.005

2.047 0.000
0.000

5.500 -0.005

4 x @ 0.130 THRU
M4x0.7 - 6H THRU

0.217
v— 1.831
v 3.524
v 4.024

i
>
|
|
N 5717

- X /
0.512
0.750
4 x @ 0.130 THRU 1.535 X
M4x0.7 - 6H THRU

o

2.262

4 x @ 0.130 THRU
M4x0.7 - 6H THRU

3.250

3.285

-

4.012

5.035

A4
+
+
.‘;g

4 x @ 0.159 THRU

(5.547 ) '

547) 10-32 UNF THRU
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/17/12
TOLERANCES: TMLE:
FRACTIONAL + CHECKED :
ANGULAR: MACH: BEND + [ o oo
TWO PLACE DECIMAL  + . i = ;
T LA DEC pa— BearingBlockMountPlate - FinalDesign
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL SIZE |DWG. NO. REV
FINSH B

@ ® @ NEXT ASSY USED ON
m APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 2 OF 3
I

8 7 6 5 4 3 2 1



8 7 6 5 ‘ 4 3 2 1
3 3 N 3
N~ To) ™ o o
0 = = = = ¢
0.1250 ' j |
0.250 a1 R N A
B (0.500 5 3x ¢ 0.098 T 0.300 3
l I M3Xx0.5 - 6H T 0.240 L
0o—* . 0o
el
P l I
| | p— A
- i 4@ @ i 1.024 v o
| o & |
S h > & o] P
2.774 v $\ i i i c 2774 V #
©® 0.098 ¥ 0.300 i *@“ *@* @ @ i¢
n M3x0.5 - 6H  0.240 | ]
b & & & 3x @ 0.098 ¥ 0.300 .
J@i | M3x0.5 - 6H ¥ 0.240
= 4.524 [ g
e - 3
5.547 V ¢|II $ L Aé I Ié (5.547 V_
Eg ) o ;8 . @ 0.098 ¥ 0.300 éz%ﬁ
B N« D M3x0.5 - 6H ¥ 0.240 °© 2 39
S o o (0.500 l S
o =
0.250 % | A
0.1250 | - $
A== —
0 i N o
Lo [\ UNLESS OTHERWISE SPECIFIED: NAME DATE
’\. ™ DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/17/12
v lg,iiﬁfc',“,f,ff; CHECKED TITLE:
fﬁ% Eg?g%%i’}jﬁf?[) : i;iizz BearingBlockMountPlate - FinalDesign
TOLERANCING PER. oA
. COMMENTS:
MATERIAL SIZE [DWG. NO. REV
NEXT ASSY USED ON FINSH B
APPLICATION DO NOT SCALE DRAWING SCALE: 3:4 |WEIGHT: SHEET 3 OF 3
8 7 6 4 3 2 | 1




N

0

0

14375

11125

[ 2.000

[ 1.500

[ 1.000

116875

138125

l'5.500)

0<>— A

(0.375

1.500

(2.500 1

————-

F——— ]

——

F————

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL £
ANGULAR: MACH*  BEND *
TWO PLACE DECIMAL  +

THREE PLACE DECIMAL *

NAME

DATE

DRAWN

LELAND

4/12/12

CHECKED

ENG APPR.

MFG APPR.

INTERPRET GEOMETRIC
TOLERANCING PER:

QA.

MATERIAL

®H©

NEXT ASSY

USED ON

FINISH

@c‘m

APPLICATION

DO NOT SCALE DRAWING

COMMENTS:
Make 1x

TITLE:

BottomStageMountAnglel

SIZE | DWG. NO.

B

REV

SCALE: 1:1 |WEIGHT:
I

SHEET1OF 1

4

3




)
o o o
o
B B ©
o o — AN
S - /
(2500 )
(0.375) .
\ A 1625 T~
A———4 C—<
A 1125 ===
T
0.375 X 0.875 T o \.0.375X 0.875 IR
B C
B
0.250 X 0.500 0
(M !'1.000
Y
A——+
!1.875
Y
5 2.125
Y 2.500)
0.250 X 0.500 o g
o o o o
o o o
) o o UNLESS OTHERWISE SPECIFIED: NAME | DATE
© ~ \(_\I/ DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/12/12
TOLERANCES: - TMLE:
FRACTIONAL +
ANGULAR MACH:  BEND * [ spon
THReE PAGE DECMAL = e aorr BottomStageMountAngle2
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE |DWG. NO. REV
@ @ @ NEXT ASSY USED ON FINISH B

m APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 1
I
2 1

8 7 6 5 4 3



6 5 . 4 3 2 1
o o =]
o o o
Lo Lo N
o - N
(
i 2.500 ) )
- 0.375
I 1.625 T
C——4«
I 1.125 T
T T T T
)
0 I o | P
0.375 X 0.875 T 0.375 X 0.875
B
B
C
l 0
0.250 X 0.500
//
1.000
5 [ 1.250
0.250 X 0.500
/
- |
11875
5 12125
12500
UNLESS OTHERWISE SPECIFIED: NAME DATE
- - - DRAWN LELAND | 4/12/12
S g o TolERaNGES, T
S 3 o FRACTIONAL + CHECKED :
S 52 TWO PLAGEDECMAL &~ [ENG APPR
TW *
\N/ T P D & pa— BottomStageMountAngle3
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE |DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINISH B
m APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 1
6 5 4 3 2 ! 1




@ 0.375 THRU ALL

1.000

0.500 DRILL HOLE THROUGH CENTER
' OF .5 - 20 SHCS. MAY DRILL

SLIGHTLY OVERSIZE TO ALLOW
CLEARANCE FOR LEAD
SCREW.

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 5/3/12
TOLERANCES: .
FRACTIONAL * CHECKED TITLE:
ANGULAR: MACH#*  BEND *
" * | ENG APPR.
TWO PLACE DECIMAL  +
THREE PLACE DECIMAL * MEG APPR. '5X20PUShSCHS
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 2x SIZE |DWG. NO. REV
FINISH B
NEXT ASSY USED ON
SCALE: 2:1 |WEIGHT: SHEET 1 OF 1
I

m APPLICATION DO NOT SCALE DRAWING
4 3 2 1




2 x @ 0.500 THRU

p— w
l
o

-- -1 0.500

A < | !
| ; ; |
| ’ —1'1.000)
o "o "o o
O (o0] Tp]
o™ < 00}
o 3N o\

?0.800 THRU

0
o

1 0.163

4x @ 0.159 ¥ 0.470
10-32 UNF ¥/ 0.380

0.729

1.000

1288
| 1.450

|
©1.1817 0.768 = = >I = =
o o L0 L0 o o

L0 (qV N o Lo

N~ < o 00

o — — AN N

—_
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/12/12
TOLERANCES: TITLE:
FRACTIONAL * CHECKED :
ANGULAR: MACH* BEND + [\ ~noon
TWO PLACE DECIMAL & LeadscrewThrustBearingMount - BottomStage
THREE PLACE DECIMAL * MEG APPR.
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x. Part is similar to SIZE I DWG. NO. REV
LeadscrewThrustBearingMount
FINISH B
@ ® @ NEXT ASSY USED ON
m APPLICATION DO NOT SCALE DRAWING SCALE: 2:1 |WEIGHT: SHEET 1 OF 1
I
7 6 5 4 3 2 1



4x @ 0.159 ¥ 0.470
10-32 UNF ' 0.380

(1.450 )i

1.288 §

0.825 {

0.721 1

0.450 {

0.163 {

0

©1.18170.768

0.425 1

0.750 !

1.4257

2.4251
2.850 1

2 x © 0.397 THRU ALL
L_J @ 0.625 ¥ 0.375

©0.800 THRU

5 4 3 1
i

T T T T T T T T

! | L R |

| | I | | Il | |

| |oon | | (I |

| | I | | Il | |

| |oon | | (I |

| | I | | Il | |

| |oon | | (I |

| | ! | ([ !
o 1l I | Il
o Il [ | I:
Q : N7 N7 :
| |
' |
|

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/11/12
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:
el T LadscrewThrustEearinaMount
THREE PLACE DECIMAL + . eadscrewlnrustbearingiMoun
INTERPRET GEOMETRIC QA.
TOLERANCING PER:
o CING COMMENTS:
MATERIAL Make 1x. Part is similar to SIZE |DWG. NO. REV
LeadscrewThrustBearingMount -
FINISH BottomStage B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SHEET 1 OF 1

4

3

SCALE: 2:1 |WEIGHT:
I

1




8 7 5 . 4 3 2 1
I T __ITT__ I
ZZZZZZZZZZZZZZZZZZZZZZZZT_‘»ZZZZZZZZZZZZZIZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZCZZZZZZZZZZZZZQZZZZZZZZZZZZZZZZZZ{&ZZZZI&ZZZIZ
N ———————

4x @ 0.250 THRU ALL
o o C o 2 x @ 0.375 THRU
o Lo Lo
o N~ N~
o i — ©
T — — -
0 1T A 1] A I N LI ] NOTE ORIENTATION OF
0.750 1 - @/ WELD BEAD RELATIVE TO
Seod O @ HOLES. IF BEAD IS ON
1.000 I LONG SIDE OF PIPE, ORIENT
1.750 —+~__ ~. TO SIDE WITH ONLY 4
2.000 ! © © ) HOLES
e I W S —
(2.500 )
4x @ 0.250 THRU o 0 o o 2 x @ 0.375 THRU ALL
Lo (V] o L0
A o 0 ™~ © Is C\!
ﬁ_ 5 I\A LOA (\IA ‘_L (@
o ™ Lo = = = =
T — —
0 *’—4_____1_1‘__14 _________________________ 7_7_/ _______________________________________________________________________ ;7_{/ ______
0.750 ! ZZZZZZZZZZZZZZZZZZZZZZZZ@ZZZZZZZZZZZZQZZZZZZZZZZZZZZZZZ—ZZZZZZZZZZ—ZZZZZ@ZZZZ—ZZZZZZZZZ@QZZZZZZZZZ—ZZZZZZZZZﬁZZZI_\Z:;ZZZZZZ
( 1.500 )L _""1_;_17 ______________________________ e T
- (18.613) _
C UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 4/6/12
e, T
?ﬁ%};&éﬁ%ﬁcﬁf;fy i i;iizz LeftRailSupport - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE [DWG. NO. REV
@m APPLICATION DO NOT SCALE DRAWING SCALE: 1.5 |WEIGHT: SHEET 1 OF 1
8 7 5 4 3 2 ! 1




2.125 N

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 5/3/12
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:
ANGULAR: MACH#*  BEND #
v * | ENG APPR.
TWO PLACE DECIMAL  +
THREE PLACE DECIMAL + MFG APPR. p75x2pl125Sleeve
INTERPRET GEOMETRIC QA.
TOLERANCING PER:
© NG COMMENTS:
MATERAL Make 18x SIZE [DWG. NO. REV

@ ® @ NEXT ASSY USED ON FINSH B
m APPLICATION DO NOT SCALE DRAWING SCALE: 2:1 |WEIGHT: SHEET 1 OF 1
4 3 2 ! 1




(3.000 )1

2x @ 0.213 THRU
1/4-28 UNF THRU

2.563 {

0.438 |

(1.000

0.500

L BY_SA | ;

OI®

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/6/12
TOLERANCES: .
FRACTIONAL * CHECKED TITLE:
ANGULAR: MACH*  BEND *
2 * | ENG APPR.
TWO PLACE DECIMAL  * ;
THREE PLAGE DECIMAL + p— RailClampMountPlate
INTERPRET GEOMETRIC QA.
TOLERANCING PER:
o CING COMMENTS:
MATERIAL Make 4x SIZE |DWG. NO. REV
FINISH B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 1
I
3 2



7 6 5 . 4 3 2
4 x ¢ 0.250 THRU
\
(2.500 )i ™
[ [ C ‘
1750 | - @ - - -
1.0007 -D- -D-
B \
0 \
- - - (0.250) | |
o o o — —
Lo LO o
™~ ™~ )
o — o\
o o o
Te) Te) o
N N 0
o — N
0
2x0.375X1.125
B
1 4 1
1.000
o
Lo
™~
| ©
1.750 )
N UNLESS OTHERWISE SPECIFIED: NAME DATE
< 2500 / DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/6/12
TOLERANCES: TITLE:
FRACTIONAL * CHECKED :
ANGULAR: MACH* BEND * [\~ oo
TWO PLACE DECIMAL & : RailFrameAttachmentAngle - Final Design
THREE PLACE DECIMAL * MEG APPR.
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 4x SIZE |DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINISH B
m APPLICATION DO NOT SCALE DRAWING SCALE: 1.1 |WEIGHT: SHEET 1 OF 1
7 6 5 4 3 2 !




7 6 5 4 3 2 1
=) o
< 0
© o o
(0.1875 ) - -
. 0
0.375 X 0.625
|
! 1.3&
" 1.625\  0.375 X 0.625
[ 2.625 \
ANGLE MEASUREMENT AND ACCOMPANYING
CONSTRUCTION LINES ARE FOR USE WITH
MANUAL ROTARY TABLE. ORIGIN OF PLATE
SHOULD BE SET AT CENTER OF ROTARY TABLE,
AND TABLE SHOULD BE ROTATED 30 DEG. TO CUT
ANGLED SLOTS.
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/6/12
lg,kf;ﬁfc',“,f,ff; CHECKED TITLE:
fﬁ%};&éﬁ%ﬁcﬁf;fy i i;iizz RailFrameAttachmentPlate - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 4x SIZE |DWG. NO. REV
@%‘ APPLICATION DO NOT SCALE DRAWING SCALE: 1.2 |WEIGHT: SHEET 1 OF 1
7 6 5 4 3 2 | 1




] —
% S
o
o
| | |
|
| |
| |
I ! ]
\
(3.000 J
<\
2.500 L
|
2x @ 0.332 THRU
3/8-24 UNF THRU
|
ZaR
0.500 :
A
0
o o o
S 3
o o
o —
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 4/6/12
TOLERANCES: T|TLE
FRACTIONAL * CHECKED .
ANGULAR: MACH* BEND * ENG APPR
TWO PLACE DECIMAL + . H
THREE PLACE DECIMAL + p— RailSupportMountBolt - BaseSupport
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 4x SIZE [DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINISH B
% APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 1
I
4 3 2




5 . 4 3 2
i [
| : o
| . S
! I Lo
| : o
! I
! I
| 1
<2 000 ) 2x @ 0.332 THRU
! 3/8-24 UNF THRU
|
|
|
0
o o —_
S S
0 o
o -
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 4/6/12
TOLERANCES: T|TLE
FRACTIONAL + CHECKED .
ANGULAR: MACH* BEND * ENG APPR
TWO PLACE DECIMAL + . H
THREE PLACE DECIMAL + p— RailSupportMountBolt - BaseSupportV2
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 4x SIZE [DWG. NO. REV
@ @ @ NEXT ASSY USED ON FINISH B
% APPLICATION DO NOT SCALE DRAWING SCALE: 2:1 |WEIGHT: SHEET 1 OF 1
5 4 3 2 !




2x © 0.332 THRU
3/8-24 UNF THRU

10.500
1
(1.000)

0.300 -

1.300

(1.600

THIN AS NEEDED WITH SANDER

0J©

L@‘m

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/10/12
TOLERANCES: B
FRACTIONAL * CHECKED TITLE:
ANGULAR: MACH*  BEND £ [ o aopm
TWO PLACE DECIMAL - & RailSupportMountBolt - LeadScrewSupport
THREE PLACE DECIMAL * MEG APPR.
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 2x SIZE |DWG. NO. REV
FINISH B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 2:1 |WEIGHT: SHEET 1 OF 1
I
3 2

4



5 : 4 3 2
3.000) 2x @ 0.332 THRU
b/ 3/8-24 UNF THRU
TN
2.125 | 1
/I§
0.875 | |
0
o >o EO\
B S
o o

@O0

A

5

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/6/12
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:
ANGULAR: MACH* BEND * [\~ oo
TWO PLACE DECIMAL £ RailSupportMountBolt - RailMountSupport
THREE PLACE DECIMAL * MEG APPR.
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 4x SIZE |DWG. NO. REV
FINISH B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 1
I
4 3 2




T

T

2.000

______________________________ t-__________________________________________________________J | R A

|
1.000 -
0 {,_l_______v_ ______________________ """ ;_l' ______________ I | T—T" | I
© 3
c 1D 2 x @ 0.375 THRU
(]
S
3 D © M © S @ W © S C M () —
I I I 8

NOTE LOCATION OF WELD

BEAD RELATIVE TO HOLES. IF

WELD IS ON SIDE, PLACE ON

SIDE OF PART WITH ONLY 4 HOLES

0 T
\ | |
0.750 u |
1.750 = B
‘ |
(2.500 ) T
3 & o) o o o
A N~ © N 8 4x @ 0.250 THRU 8 90 2 X @ 0.375 THRU ALL
o N © o N~ o - o
5 S Y B J_J______________________________;(_/ _________________________________ :,Z ______
0.750 :::::::‘::::::::::‘::::::::::‘::::@::::‘::::::::@::::::::::‘::::::r:\:::_::::::::::\4/_::::::::{:::::::::{:::::::_\KL;:K:::: ———
) s
(1.500
B 18.613 o
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 4/6/12
TOLERANCES: T|TLE
FRACTIONAL * CHECKED :
ANGULAR: MACH+ BEND * ENG APPR
O PLACE DEC + - i ; i i
T o L+ — RightRailSupport - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE [DWG. NO. REV
NEXT ASSY USED ON FINISH B
APPLICATION DO NOT SCALE DRAWING SCALE: 1.5 |WEIGHT: SHEET 1 OF 1
8 7 6 4 3 2 ! 1




7 6 5 . 4 3 2 1
B
e e
\ J
A < D D
C C
(@) o o L0 (@) L0
o Tel Tel N o N
L) N N ™ S ©
o — N (90] < <t
D - - T T 0 .
Y I I
0.1575 | |
A « hd {\ — ~1o0.270 0.500 ] T
b e Lo.625 0750 !
2 x ¢ 0.098 THRU Y 0.750) | - -l
) o © 1 O
M3x0.5 - 6H THRU 3x ¢ 0.098 ¥ 0590 § S
M3x0.5-6H ¥ 0.240 o O
DIMENSIONS OF SLOT > Y
ARE IDENTICAL TO OTHER 7 0.750 Q‘]/
- LOOSE FITTO 1/4" SHCS k%\ - : - L
1( 1.500)
A < C S /) j 1.045
I i i | 0.5906
—————— 5 - SR=tes [ 0.2953
[ I I '
i I | T 0 2 x ¢ 0.130 THRU ALL
. - - g - M4x0.7 - 6H THRU ALL
o L O W o N O o
~N O o N 0 [N
® O © S =~ ©
o N 4 ™ © ™ <
— (92 N
UNLESS OTHERWISE SPECIFIED: NAME DATE
B DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/10/12
TOLERANCES: TITLE:
FRACTIONAL + CHECKED
ANGULAR: MACH* BEI?ID + ENG APPR. ) ] ) ]
T pa— ShortBearingRailClampV?2 - FinalDesign
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 4x SIZE [ DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINSH B
m APPLICATION DO NOT SCALE DRAWING SCALE: 1.1 |WEIGHT: SHEET 1 OF 1
7 6 5 4 3 2 | 1




8 6 5 4 3 2
3x @ 0.142 THRU
(CLEARANCE FOR M3 SCREW)
D
_ 5 Q9
o) o) o) 0 )
(QV| N~ (Q\|
© ™ — © © ©°o
(@) N < <
- - - -—
0
0.063
: s s
0.250 5
0.438
(0.500
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/10/12
TOLERANCES: TITLE:
FRACTIONAL * CHECKED .
SRRt 190+ [oig o .
THREE PUAGE DECIVAL + p— ShortPushPlate - FinalDesign
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 10x SIZE |DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINSH B
3 A APPLICATION DO NOT SCALE DRAWING SCALE: 2:1 |WEIGHT: SHEET 1 OF 1
5 4 3 2 !




8 7 6 5 4 3 2 1
F----—-- e I T _ 1 I L1 _____ _]
| : !
o >—{s
s S _
e .
| 1
i JI_:
e N I B I O A ]
CUT END SQUARE AT 21", MILL FLAT g&g SEIT'E?LA&T{-%NHCSFLE@ELD
AND DRILL HOLE. THEN CUT ANGLE
- DOES NOT NEED TO BE PRECISE ( 250 )_> | .
(.250 H =
[ ©.500 THRU ALL ©.500 THRU ALL A
\ A 0
10 S I ‘— ____________________________________________________________________________________________________________
- - - - - - - - - { 1.250
C
A (2.500)
4 4 ©.500 THRU ALL— o o &
~ NN AN~
I3\ ~ © ™
I3V ™ —
- 21.000 =
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN teland | 3/12/12
lgk?fgﬁ,ff; CHECKED TITLE:
ANGULAR: MACH* BEND + [\~ o0 ) ] )
O PLACE DEC + : -
TWO PLACE DECIMAL = S SideMember - Final Design
INTERPRET GEOMETRIC QA.
‘ TOLERANCING PER: COMMENTS:
MATERIAL Make 6x SIZE |DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINSH B
APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 |WEIGHT: SHEET 1 OF 1
8 7 6 5 4 3 2 ! 1




6 5 . 4 3 2
A ALL HOLES ¢ 0.500 THRU
_ . (0.1875)
o0 | |
1.527
Q} 2.826
@ ) V 6.000 i
! \;/ : u
| ‘ ¥,
/ \ 7.25 ) -
= =
o oM MO o
D W ™ML o
N M <
— +d o N —
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 3/12/12
TOLERANCES: T|TLE
FRACTIONAL + CHECKED :
ANGULAR: MACH* BEND * ENG APPR.
TWO PLACE DECIMAL + H H H
THREE PLAGE DECIMAL + p— SidePlate - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 12x SIZE |DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINISH B
APPLICATION DO NOT SCALE DRAWING SCALE: 1.2 |WEIGHT: SHEET 1 OF 1
6 4 3 2 !




6 5 4 3 2
o Lo
8 = ~ o
— N -1 o
-— — © o o
0 Y
0.063
Y
0.250 )
Y
0.438 _V
(0.500 }—
@ 0.142 THRU
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/12/12
TOLERANCES: TITLE:
FRACTIONAL * CHECKED .
?ﬁgﬁﬁ%?&%ﬁ'@“ BEED g il SingleHolePushPlate - FinalDesign
THREE PLACE DECIMAL * MEG APPR. g g
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 2x SIZE |DWG. NO. REV
©X0l® :
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 2:1 |WEIGHT: SHEET 1 OF 1
I
4 3 2




2.238

UNLESS OTHERWISE SPECIFIED: NAME | DaTE
DIMENSIONS ARE IN INCHES DRAWN LELAND 5/3/12
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:
ANGULAR: MACH+ BEND *
" - ENG APPR.
TWO PLACE DECIMAL  * H H
THREE PLACE DECIMAL + MFG APPR. Spindle Gib Mount
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER:
o CING COMMENTS:
MATERIAL Make 1x. Cut existing gib mount to SIZE IDWG. NO. REV
specified thickness. Purchase
FINISH appropriate fasteners (M8 x 50) B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 1.1 |WEIGHT: SHEET 1 OF 1
I

5 4 3 2 1



6 5 4 3 2 1
?0.500 THRU
o =)
- :
. — —
L0 — AN
0
|
1.000 CUT THIS END - SHOULD BE END
OPPOSITE TO END WHERE RACK
1 ) ) ) . . . ATTACHES TO COLUMN
2.000
3.000!
|l
(4.000)
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 4/6/12
lg,iiﬁ’.*c',“,f,ff; CHECKED TITLE:
ANGULAR: MACH# BEND *
MWORLACEDECMAL = T SpindleColumn
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE |\ DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINISH B
m APPLICATION DO NOT SCALE DRAWING SCALE: 1.2 |WEIGHT: SHEET 1 OF 1
5 4 3 2 ! 1




4 x ¢ 0.201 THRU

To) To) n 9
N~ N~ ~
— © - ®
o o - -
— — — _.0.250 _
0
0.163 KJ
Y
0.729
Y
1.288 +— ©0.875 THRU
\!
(1.450)
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 5/3/12
TOLERANCES: T|TLE
FRACTIONAL + CHECKED .
ANGULAR: MACH+ BEND * ENG APPR
TWO PLACE DECIMAL * . H
THREE PLACE DECIMAL * y— ThrustBearingPushPlate
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 2x SIZE [DWG. NO. REV
@ ® @ NEXT ASSY USED ON FINISH B
R A APPLICATION DO NOT SCALE DRAWING SCALE: 2:1 |WEIGHT: SHEET 1 OF 1
7 6 5 4 3 2 !




7 6 5 4 3 2
< <t
= @ 0.500 THRU =
o N o
\
(2.500 )i
r—C
1.250 | 1
B
L
i T
A
® 0.500 THRU A
C
2 x  0.500 THRU S =
o o)
o o)
0 A — -
1.250 @
\
(2.500)
(13.000 ) _
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 4/4/12
TOLERANCES: TlTLE
FRACTIONAL * CHECKED .
ANGULAR: MACH* BEND * ENG APPR
TWO PLACE DECIMAL + . H H -
THREE PLACE DECIMAL + p— ToplnsideAngleZMount - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE [DWG. NO. REV
@ @ @ NEXT ASSY USED ON FINISH B
3 A APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 |WEIGHT: SHEET 1 OF 1
7 6 5 4 3 2 |




6 5 4 3 2
fo'o)
g 3; HOLES MAY NEED TO
< B - o BE SLOTTED
— l — D
o
0
N
R )
4/ A
X T T T T
[ | | T | |
— C
ALL @ 0.500 THRU
13.00 _
B
\ l
(2.500) ] : I
%
1.201 1 & &
O T
o C o o
~ ~
N N
< <
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 3/12/12
TOLERANCES: T|TLE
FRACTIONAL * CHECKED .
ANGULAR: MACH+ BEND * ENG APPR
TWO PLACE DECIMAL * . H . .
THREE PLACE DECIMAL + p— TopinsidePlate - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 2x SIZE [DWG. NO. REV
@ @ @ NEXT ASSY USED ON FINISH B
3 A APPLICATION DO NOT SCALE DRAWING SCALE: 1.2 |WEIGHT: SHEET 1 OF 1
5 4 3 2 ! 1




2x © 0.531 THRU ALL

A | | ® 1.125 V¥ 0.364
=)
o o o o o o
N~ H O W ™ =}
o <t n O I~ foe) :l
< . o
1.299 1 "’ \
2.000! — : \ g
! I A : ! I
2.500 - ol Q \ |
(3.000 / ] N
2 x @ 0.213 THRU
1/4-28 UNF THRU
® 0.500 THRU ALL
C
- o 2 x @ 0.500 THRU ALL
© -
= i
o i S
t — -
07 A T T T T
o500 oy L TR = e
PO N —— 1 i T G
(1000 )—— I 11 1 I 11 1

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/4/12

TOLERANCES: .
FRACTIONAL + CHECKED TITLE:

ANGULAR: MACH*  BEND *

TWO PLACE DECIMAL  + ENG APPR. .
THREE PLACE DECIMAL * MFG APPR. TopInS|deZMountv2
INTERPRET GEOMETRIC QA.
TOLERANCING PER:
© CING COMMENTS:
MATERIAL Make 1x SIZE |DWG. NO. REV

@ ® @ NEXT ASSY USED ON FINSH B
m APPLICATION DO NOT SCALE DRAWING SCALE: 1.2 |WEIGHT: SHEET 1 OF 1
I

6 5 4 3 2 1



8 7 6 5 . 4 3 2
NOTE: LOCATION OF .
WELD BEAD RELATIVE NOTE: LOCATION OF
TO HOLES WELD BEAD RELATIVE
TO HOLES
> S S
B ©0.500 THRU S @ NS
#0500 THRU L0250 . o~ N~ ©
A
_________________________________________________ /A Y A
P e———— = .. / N —
- e ©0.500 THRU (0.250)  ©®0.500THRU /' _| |(0.250)
e} o < <
© - ©
= ® O
(9\] N~ o]
. 23.66 _
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 3/12/12
TOLERANCES: TlTLE
FRACTIONAL * CHECKED
ANGULAR: MACH#* BEEID * ENG APPR. ) )
T e e & — TopMember - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE [DWG. NO. REV
1
@ @ @ NEXT ASSY USED ON FINISH B
m APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 |WEIGHT: SHEET 1 OF 1
8 7 6 5 4 3 2 ! 1




0.250 _||_ nis (0.250)| |
. (23.66) _
@ 0.500 THRU 0.500 X 0.750 0.500 THRU 0.500 THRU
® 0.500 THRU 0.500 X 0.750 0.500 THRU 0.500 THRU
0.250_ _ 0.250
(2.500 )
1.250 ;
0~ \ 4
Ci) - >o!o>Oo _ L .L L
9 >3 S S I ©
o © ~ Q N o
B 0 N~ N N
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 4/4/12
lg,iiﬁ’.*c',“,f,ff; CHECKED TITLE:
WoPLACEDECHAL + ?;:ZF; TopMemberSideB - Final Design
TOLERANGING PER, S
MATERIAL Vake SIZE [DWG. NO. REV
@ SHEET 1 OF 1

m APPLICATION DO NOT SCALE DRAWING SCALE: 1.5 |WEIGHT:
4 3 2 ! 1




©0.500 THRU 0.500 X 0.750

©0.500 THRU @ 0.500 THRU

?0.500 THRU 0.500 X 0.750 ®0.500 THRU

(0.250) (0.250)  _ . _

17

1

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND 4/4/12
TOLERANCES: .
FRACTIONAL + CHECKED TITLE:
ANGULAR: MACH* BEND * ENG APPR
TWO PLACE DECIMAL + . H . .
THREE PLACE DECIMAL + p— TopMemberSideC - Final Design
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE [DWG. NO. REV
FINISH B
NEXT ASSY USED ON
B A APPLICATION DO NOT SCALE DRAWING SCALE: 1.5 |WEIGHT: SHEET 1 OF 1
I

8 7 6 5 4 3 2 1



7 6 5 : 4 3 2
Lo L0
9 &
© B — o
— — D
A 0
o
0 . A |
g {D N 1.250
= > A
ﬂ A T T T V( 2500)
o %2.500)
— C
_ 8.00 _
ALL HOLES ® 0.500 THRU B
— l — 2.500
| | | | [x
@ I 1.201
> A
v &0
— — D
O —

®H©

A

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 3/12/12
TOLERANCES: .
FRACTIONAL * CHECKED TITLE:
ANGULAR: MACH* BEND + [\~ o0
TWO PLACE DECIMAL  * : ; : ;
THREE PLAGE DECIMAL + p— TopOutsidePlate - Final Design
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 3x SIZE |DWG. NO. REV
FINISH B
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 |WEIGHT: SHEET 1 OF 1
I
4 3 2




© 0.332 ¥ 0.680

3/8-24 UNF ¥ 0.550 C C 3x @ 0.098 ¥ 0.590
HOLE ON ONE COPY ONLY M3x0.5 - 6H | 0.240
S B
, 0.1575 5 & }@}
@ 10375  [A )
B ﬂ
Y0.750)
— — -— o >o >O >O
o © o) o =) 0 o
o < o Te} N o
% o 0 o 3\l <
s - =
o N A
2 B B B3 S 8 o N
0.9 I\ N o\ o o © ©
Yo oS S o N % ~
T — — — — — — >| )
= 1(1.500)
ROAS>- N |
e S
0.500 - | T N
a T i § 0-5906
| il N 0
DIMENSIONS OF SLOTS/ 2x @ 0.130 THRU ALL
ARE IDENTICAL M4x0.7 - 6H THRU ALL
UNLESS OTHERWISE SPECIFIED: NAME DATE
B DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/10/12
lg,kf;ﬁ’.*c',“,f,ff; CHECKED TITLE:
f&%};&gﬁ%ﬁ{%{? o T:in:; TopShortBearingRailClampV2 - FinalDesign
INTERPRET GEOMETRIC Q.A.
TOLERANCING PER: COMMENTS:
MATERIAL Make 2x. Observe differences SIZE |DWG. NO. REV

between parts (detailed above)

FINISH B
NEXT ASSY USED ON

m APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 1
I

8 7 6 5 4 3 2 1



C ® 0.332 ¥ 0.680
3x @ 0.098 ¥ 0.590 cC 3/8-24 UNF ¥ 0.550
M3x0.5 - 6H ¥ 0.240 HOLE ON ONE COPY ONLY

Ny 0.1575  0.15751 ;

« 7 hd e 0.270 0.375 Jr_/—@

( Y > — B
(0.750)  0.750
o o o o Y o W =
S o S 9 o 3
Lo (q\] o o) Lo
o [N < < —
o)
'7)@ 0.500 N SLOT DIMENSIONS
So 9000 | o ARE IDENTICAL
o <& .
1 1.500)
A - 4 \
1 [ T A 05906
i | |
a /ﬁ’ T & § 0.295
I [ [
11 v 11 11 0
o o w 7o) N D 0 o
o « N NN N
3 © o 22 009
. o\ . ™ < <
2 x @ 0.130 THRU ALL B| o o s
M4x0.7 - 6H THRU ALL
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/10/12
TOLERANCES: TITLE:
FRACTIONAL * CHECKED :
ANGULAR: MACH* BEND * [y ooe
TWO PLACE DECIMAL ~ + TopShortBearingRailClampV2 - Left - FinalDesign
THREE PLACE DECIMAL * MEG APPR.
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 2x. Observe differences SIZE IDWG. NO. REV
between parts (detailed above)
@ 010 B
NEXT ASSY USED ON
Lm APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 |WEIGHT: SHEET 1 OF 1
I

8 7 6 5 4 3 2 1




7 5 . 4 3 2
@ 0.453 | 0.478
©0.380 THRU 1/2-20 UNF  1.000
0616
&
1.350 ! £ P
1 2, QY
o <% 1 ] <
0.9330; i
A sl Nl [T T
0.3751 T~ T |
0.200 1 'k TN AT C
0 A T )
Qw9 o o o o
B e 8 S & 3
B
@ 0.194 THRU ALL
3.000 |
2.750 ﬂ} ﬂ%%f
2.375 | R0.0625 7 0.8500
1.897 | 2
1.103 |
0.625 |
A
0.250 |
0
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/12/12
lg,iiﬁfc',“,f,ff; CHECKED TITLE:
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS:
MATERIAL Make 2x SéE DWG. NO. REV
m APPLICATION DO NOT SCALE DRAWING SCALE: 1.1 |WEIGHT: SHEET 1 OF 1
7 5 f 4 3 2 |




B
218 £ 8 8 8 g 8 2 23 8
@ ~x *® <o 4 q S S &K 8
o o — o\l <t Tol © N~ 00 n t™m o o
0 —rA - A ~N—+0
0.6251 O—-—O—-—O—-—0—-—0--—0--—0 X
D R T @ ) 11882
e B S A A S 4
| | | | | | | 1
| | | | | | | ) @ 13438
oL L e e 14563
| | | | | | | 4x ¢ 0.159 ¥ 0.404 /
6.250 ] N U U S S S 10-32 UNF ¥ 0.310
| | | | | | | ~ ~
R R R ® 16:813
7.3751 @———@———@———@———@———@——/—,@
(8.000 1— ~ - ~—Y'5.000)
49 x @ 0.213 ¥ 0.420 8x @ 0.213 ¥ 0.410
1/4-28 UNF T 0.350 1/4-28 UNF T 0.500
S
Lo
S
]
i
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LELAND | 4/21/12
o, e
?ﬁ%};&éﬁ%ﬁcﬁfi?[) ; i;iizz TopTable - FinalDesign
INTERPRET GEOMETRIC Q.A.
‘ TOLERANCING PER: COMMENTS:
MATERIAL Make 1x SIZE |\ DWG. NO. REV
@ APPLICATION DO NOT SCALE DRAWING SCALE: 1.2 |WEIGHT: SHEET 1 OF 1
7 6 5 4 3 2 | 1




	FullAssembly - Final Design
	12 in - EGR15U
	220mm - EGR15U
	BaseMember - Final Design
	BasePlate - Final Design
	BearingBlockMountPlate
	BottomStageMountAngle1
	BottomStageMountAngle2
	BottomStageMountAngle3
	LeadNutAdjustScrew
	LeadscrewThrustBearingMount - BottomStage
	LeadscrewThrustBearingMount
	LeftRailSupport - Final Design
	p75x2p125Sleeve
	RailClampMountPlate
	RailFrameAttachmentAngle
	RailFrameAttachmentPlate - Final Design
	RailSupportMountBolt - BaseSupport
	RailSupportMountBolt - BaseSupportV2
	RailSupportMountBolt - LeadScrewSupport
	RailSupportMountBolt - RailMountSupport
	RightRailSupport - Final Design
	ShortBearingRailClampV2 - FinalDesign
	ShortPushPlate - FinalDesign
	SideMember - Final Design
	SidePlate - Final Design
	SingleHolePushPlate
	Spindle Gib Mount
	SpindleColumn
	ThrustBearingPushPlate
	TopInsideAngleZMount
	TopInsidePlate - Final Design
	TopInsideZMountv2
	TopMember - Final Design
	TopMemberSideB - Final Design
	TopMemberSideC - Final Design
	TopOutsidePlate - Final Design 
	TopShortBearingRailClampV2 - FinalDesign
	TopShortBearingRailClampV2 - Left - FinalDesign
	TopStageNutMount
	TopTable - FinalDesign

